1998 9 17 3
( , 611830)
l H
1997 4 16 ,
: () 2

( )-01-02" ( ), , '

' 4 km

Im 4050 B @204™ . 4050
(V20375 v1998 Om) . 420375
(v2037 5 v2015 5m) (V20155 V - I:
2024 0m): (v1998 Om ) 20 ) - o
2.4
( ) ; /
: (v Y1998.0
20155 v1975 O0m) : 1m
( v FRE

1995 O0m); (16 md ; 984,

197

1

, Q= 22 4m, @ 18 Om,

( , 2037 5m,
), 1944 3m, 93 2m, Q@
22 4m,

29



) 1959 Om
, : Im v 2037 5
v1998 Om, JB8@20
200 v1998 0 Vv 1959 Om
42mx 20mx 22m( x x
) , v20375 v1975 0m
) 16 000 m?,
1
31
45° ,
; 1984 5m,
13 5m,
) Im
32
4
41
411
Im 22m

30

412

@12 5

4 2

43
431

Im

Im

13 5m,

35m,

1m

1998 Om

30%,

1m

1998 Om

210°,
Im
386
P5@40

Im

30%,



...2'.0.11.1 v1998.0™

3 OfRR

4_5,,,()&;1%5&)

Z
?? . sm(tm:m
? :

é? (BI%—R)

450 —

4 v1984.6™

|07 RAERRH

2
: : o 60%
, 1m; 25,
4m
Q2m, 12m
4 32
, im : m?
1, 4 5m , 1Im
4 , :
(D1m (

30%):
G=Ki- & H- P=13x12x50x25
=19 5 (tf)= 195 000 (N)
N ;
K1

12m( );
, 50m;

2 5t/m?®

H—
p_

(2) G :

G:1= G/n= 19 5/4= 4 875 (tf)= 47 807 (N)
G .

n— 1Im ,5m

(3 :

T= G1/A = 47 807/490= 97 6/ (N /mm?)

= [T] ;

A [

=1 R- R=T1X 12 5%
12 5= 490 (mm?)
[T]— =210 N/

mm?)

(4) :
f 1= G1X sino= 47 807x sino= 41 402(N)
o= f 1/A = 41 402/490= 84 5 (N /mm?)
o< [0] fiSF" ;
f1 ;
o0— = 60°
[o] = 210 (N /mm?);
F'— JF">2 10t
(5)

f2=F" ocosx= 98 066% cos60°
= 49 033(N )= 5 (tf)

‘M = 5x 1+ 5%
2+ 5x 3+ 5x 4= 50 (tf. m)
Im,
5
(1) .
) 4 5m, 50m
(2) H H
3 3 4
(3 ,
F"> 10 t;
, qa2
(4) ; , o
60°% , im, q2s5,
4m
6
(1) ,
10 tf,
(2 ,
(3
70%
(4) ,
) ( 71 )

31



, , 50 000 ; '

90 d il Lt
90 d, ,90d
90d
4 ] 1 1
2000
30% , 7
( ),
) ( ) ( : 1998-06-18)
11 )
(4 ( ) ,
1998 10 (5 ,
’ ’ 80% ’
, (6) , ,
1998 10 1999 5 ,
120 m?® (7 : ,
H 6 ) ) L] H
(1) 1 i y Y y H
(2) ’ b
(3 , ( © 1998-06-11)
31 )
(5 ,
, , ( : 1998-06-11)

71



